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Source: Office of Management and Budget, President’s Budget FY 2012




IVIONEY WE HAVE

$2.2 TRILLION MONEY WE DON'T
$1.6 TRILLION

Source: Office of Management and Budget, President’s
Budget FY 2012







The federal government used to issue bonds
and borrow from our citizens

6 billion. During the
war, 85 million
Americans purchased

bonds totaling

approximately $186
billion (funding 62% of

| W
WAR BONDS s




America’s Foreign Debt Reality
WHO OWNS OUR DEBT ?

FOREIGN HOLDINGS: 47%

DeBT HELD By PUBLIC: DEeBT HELD By PUBLIC: DEeBT HELD By PUBLIC:
$283 BILLION $2.4 TRILLION $8.4 TRILLION




Source: U.S. Department of Treasury,
Government Accountability Office




TOTAL SPENDING IN FY 2010 = $3.5 TRILLION

(OUTLAYS IN BILLIONS OF DOLLARS)
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Example of the Problem: Medicare
Paid In vs. Paid Out for Average Couple

Pay in is 32% of payou

$343,000

Paid In
— ™ Paid Out

$167,000

$109,000

2010 2030

Couple making combined $86,000/year

on average over a lifetime Source: The Urban Institute: Medicare Taxes and
Benefits Over a Lifetime Jan. 2011



TIDAL WAVE OF DEBT

DEBT HELD BY PUBLIC AS SHARE OF ECONOMY
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False Solution #1: The Debt Deal

-called Budget Control Act passed by Co




FALSE SOLUTION #2

The Middle Class Tax Target

The amount of total taxable income (left scale) for
all filers by adjusted gross income level for 2008

$1.4 trillion

Source: IRS




WHAT IF WE JUST CUT EARMARKS & FOREIGN AID?

FALSE SOLUTION #

TOTAL SPENDING
$3.5 TRILLION IN 2010




WHAT IF WE CUT ALL DEFENSE SPENDING?

FALSE SOLUTIOLI

TOTAL SPENDING
$3.5 TRILLION IN 2010




Solutions that Work

Medicare:

Transfer from a defined benefit, fee-for-service
structure to a defined contribution structure,
and require an aggressive means test. It
offers: CHOICE, COMPETITION, PATIENT

ROL, FREE MARKET PRINCIPLES, LOWER
HANGES FOR CURRENT




Best Solution: A Balanced Budget
Amendment

es have Balanced




A CHOICE OF TWO FUTURES

(DEBT AS A SHARE OF THE ECONOMY)
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